MOFGFR L HEHIIRA - R G fb - BUAN O Pt HERHRS S CPAR29 4 B « L) [1. P RERRA E T $ 3 H OO LYV L F~22. —ARBEger) i ]

RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
2L = = Al ABRERSE | R vVr | O - H " EOTTI] BB | M| RWE | PR e
1 [HgaD KB A 19 7.0 181 42 249
2 | TIULTIR 2.4 0.75 3.1
3 [ TVUNLERTTF L 1,013 1,013
4 T YRR O O REEEE 33 0.25 33
5 |[TIUNER2— (PAFATI/) F )L 1,013 1,013
6 |TIUNEB2 —ERRX =T L 0.24 0.24
T \TIINERI NN —TFIL 20 0.060 20
8 |[TVUNERATF IV 0.10 1,013 1,013
9 |[77Va=rIv 575 575
10 [77aLA 649 1,856 11,709 43 6,391 240 3,813 24,701
117 AT NY A 0.28 0.28
12 |77 ATER 0.011 3,601] 10,205/ 70,154 241] 26,816 7,054] 5,085 1,489 0.002 124,645
13 [ 7&bh=RJv 344 9.0 394 746
14 |[7&b 7 JERU
15 [ 7®F75
16 |2, 2" —T7YEALYTFr= )L
17 [ Anb=T=vvv
18 7=V 0.30 0.41 0.72
19 [1=73/—9,10—7h5% /v
20 [2—T3I)xH)—) 324 49,638 104,508 154,471
21 (yaxy 34,890 34,890
22 [747B=)L 177 35 212
23 [R5 —T3I)Tx)—)L
24 |\ A —=TI)Tx/)—)V
25 [ANT Vv 14,857 14,857
26 [3—73I/—1—7n~
27 | A3k 171,121 41 171,162
28 |TUNLTILa—)L
29 [1—=TINVAXY —2, 3—ThRFL T
T VR NP AR R ED
30 4 (TR NV IEDRFEEI10H5H14ETO 934| 14,288 70 196,018 130,346 341,656
HOKOZEDREMIIRD, )
31 [T FERLROZEDLEY 15 3.4 176 195
32 [T hoky
33 A 0.023 0.023
a4 |3AYETIIAF =3, 5, 5-NAT
i) =AJT T F—h
35 AT FNTILTER
36 (/T 16,173 16,173
37 [EAT=/—LA 5.4 8.1 13
2,2 —{4y7ae)F U eR[(2, 6-V7
38 |BE—4, 1 —Tz=L)AFU] Vs
J—=Iv
39 |7 IKA
40 7= F—h 180 180
41 [TART= 20,873 20,873
42 [2—AFVVVrTF A 0.25 0.25
43 | A8V
14 (AT LRTZEDIEY 0.0002 0.0002
45 | T=HTFA—)v
16 XV rsky T T 6,573 6.573
47 | THIRA 392 392
48 |[EPN
49 |[UFqRAHY 28,954 28,954
50 [EUF—h 192 192
51 |2—ZF)L~FHh
52 |77=NT
53 |TF AP 147,113] 130,527 60 263,930 12,697 146,104 2,751 4,656 17,823] 1,271 79 727,011
54 | HRAFTE—h 15,894 15,894
55 |ZF LA
56 |TFLAFUR 418 393 810
57 |=FL o7 )a—NE/)TF)LT—T )V 1,700 9.8 0.84 1,711
58 |TF LT Va—)LE /AT /L T—T ) 69 0.52 69
59 [TFLLTTI 0.071 0.006 0.076
60 |[TFL U7 I IUFERE 8.8 488 293 790
61 |[~ox7 625 625
62 |[wrats 661,823 661,823
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RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
2L = = 7 {EPERSE | A vVr | O - H " EOTTI] BB | M| RWE | PR e

63 [V77RY7 a3k 11,796 11,796
64 | TRz TayIA 7,316 33 7,349
65 |TE/umkeRY 0.10 0.10
66 |1, 2—TARFL T X
67 |2, 3—xARFL—1—T /) —)L
68 |fp{b 7oL 0.11 0.11
69 2, 3—IARFT T )N =T =)L m—T

v
70 T AT UBla BAEME e~ 2y 29 29

F Bl1b% BB DIRE
71 AR 8k 1.4 1.4
79 [BIEATT A (REHN100H13ETO

HOKTZEDRAMIZIRD. )
73 [1—AsE5 =N 0.38 0.001 0.38
4 |\INTG—=FIFNTx)—)L
75 | HRIV LR OZEDOILE Y 0.088 7.2 0.18 30 37
6 | AT7vay—hTazrxn
7 |y sy TFIN
78 [2, 4—FTL/)—)L
79 [2, 6—FLL/)—)
80 [FI Lo 246,122 142,915 168 2,525 447,850/1,131,925 66,213 578,595 7.837] 19,040 44,733] 5,085 876 64 2,693,947
81 |F /v 0.00003 0.00003
82 [$RE OEDKIEHELEY 9.2 59 68
83 [rA~ 1,147 4.0 3,069 2.3 4,222
84 | ZVAFH—L
85 | NANTILTER 17 0.25 17
86 (/LY —)L 0.013 44 0.008 44
87 |7usRk O =flizaMei 1.4 76 14 113 205
88 | AfizabA 1.3 415 416
89 |zmumpr=y»
9 [FrFvr 32,715 32,715
91 [>T Vv 1,709 1,709
92 [ 7= EFK 1,257 1,257
93 [ARFrE—V 31,198 31,198
94 [Hifke =1 9.7 9.7
95 [FATVF A 33,755 62 33,817
96 [VTx/)mF— 5,995 5,995
97 |1—rmu—2— (ZraAF L) L
98 | /mnfERg
99 |/ F /L
100 [ FLFF7u— 9,055 1.3 9,057
101 |[7F7a—)L 53,274 53,274
102 [1—7man—2, 4—y=pa~E~
103 [HCFC—142b 13,680 13,680
104 [HCFC—22 250,133 250,133
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 A7y~ 5,923 5,923
109 [ ANVh—rmaplay
110 |(/NF—znuplxz
111 |2—Zvur—4—=frT7 =)
112 |2—Zmp=fa~_ ¥
13 [Z~=Jr 453 453
114 A5 )T 7 6,982 1.4 6,983
115 | 7= hIPIR 2,726 2,726
116 [~ FTVIA 40 40
17 |[T7ar/—)u 43,867 5.4 31 43,903
118 |3/ur74=)L 8.4 8.4
119 [Fx>7ary—n 5,375 5,375
120 [AVb—Zvun7e/—)L
121 ST —randx)—)
122 [2—Zunruc @
123 k7Y
124 (73 7,160 7,160
125 [zama~u B 156, 30,282 12 30,450
126 |[CFC—115 171 171
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REYRZ L PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)
1 2 3 4 5 6 7 8 9 10 11 12 13 15 | 16 | 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
ool ™ A fesaE | RE | LYy | oM - H N | W | | RWE | R | gl
127 |[ZaakL A 632 1,664 681 2,977
128 HfbAF v
129 [4—/an—3—AF)NTx/)—)L
130 |MCP
131 |3—ZaRr—2—AF)L—1—7ua~
132 |2 VRO DG 26 0.021 4.1 319 349
133 ;Zf/”: NI EFNT=TATE 2,580 0.064 2,580
134 |EflgE =L 208 862 0.42 1,070
135 ::%E‘/ﬁu:xwwc/f%w:~—?w7’z
e
136 | HUFATNTER
137 73K
138 |7y Avk
139 [F7mAR 24 13 36
140 |7 =270/ SNy 14 3.2 17
141 | vEXF =L 21,318 21,318
142 (2, 4— 7T =V—
143 14, 4’ =7V 7z =) T—F )L
> ~ AN iz R N
144 @?TTABD%@QE&U/T/@KH% 62 0.49 738 800
145 2— (P=FNTI)) 2B )—)V
146 [EVIRAAF L 98 98
47 | FA L HNT 358 358
148 |7 =2 ARa—/L 14 14
149 | Pusfifb bR 0.37 0.37
150 |1, 4— A% 30 30
151 |1, 3—YF4FVT
152 N2y 7 5,319 5,319
153 | 7RI AN 390 390
154 |v7a~F L7y
155 IN— (L 7a~F L L F4) 7ZNAIR 0.19 0.19
156 | 7onry=J
157 |1, 2—Y/maxyy 55 15 57
158 ke =07
159 | A—1, 2—Y/pp=FlL v
6o |3 3 —YrEE 4, 4 —OT VT
VAR
161 [CFC—12 22,145 22,145
162 | 73R 2,500 2,500
163 |CFC—114
164 |[HCFC—123 5,937 5,937
165 |2, 4—YZ7nahLxoy
166 |1, 2—Y/mn—4—=ha~ By
167 |1, 4—Y7un—2—=fa~_ ¥
168 A7 5,846 5,846
169 Vv 2,955 2,955
170 |[Fhaty—n 5,653 5,653
171 | Fara)fy—u 39,750 22 39,772
172 | AXHVrarky 90 90
173 vy
174 [V=zn 40,944 40,944
175 |2, 4—D 156 156
176 |[HCFC—141b 32,139 32,139
177 [HCFC—21
178 |1, 2—y7unrusXyv
179 'D—D 94,630 94,630
180 3, 3° —yrmp~L vy
181 |[v7nn~y vy 11 349 144,994 0.033 145,345
182 [T/ %L 7= 50 50
183 [£5/L—h 39,192 14 39,207
184 | 7n~=L 15,766 15,766
185 [HHCFC—225 11,659 11,659
186 | HifbAFL > 31,723 46 31,769
187 [VF T/ 84 84
188 [N, N— L /a~F I L7
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REYRZ L PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 5 | 16 | 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
ool ™ A fesaE | RE | LYy | oM - H N | W | | RWE | R | gl

189 [Ny NS 7unF L —2— Uy F 7

S =V ANT =T IR
190 |y ru~ By xy
191 AY7TaF47 3,220 3,220
192 | =F 472 IRA
193 | =F )L FA A
194 |F¥m
195 | 7aFA47kA 17,525 0.19 17,525
196 [AFFF A 264 264
197 |~5/v 1,793 1,793
198 [PAP=—} 5,295 5,295
199 |CIZ VAL At 1260
200 |Y=hahlxr
201 |2, 4—V=ha7=/)—)V
202 | VE =R
203 | V7 == T
204 | VT x=)—T )L
205 |1, 3— V7= AT T =V
206 | HNRALT 7 53 53
207 B8 v TFN A=V 5.1 35 18 0.18 58
208 12, 4=V —H— ¥ V—TFNTx/)—)b
209 |7 uEIORAY 1,024 1,027 2,051
210 |2, 2— Y7 aE—2— 37 )7 LT3R
211 |/~mr—2402
212 |77 =—h 50,314 50,314
213 [N, N—PAF AT ERTIR 233 35 2.0 270
214 [2, 4—TAFAT =Y
215 |2, 6—CAFAT =V
216 [N, N—YAF LT =U 0.022 0.022
217 |[FAL o5 7,348 7,348
218 [UAFAT IV 6.9 0.55 7.5
219 |[VAF N AT 4R
220 [PAFNTF A TN S BED KIEES
221 | RTINS 325 325
222 | T =) FAINT
223 [N, N=VAFARF AT
224 g]:N VAFAMRT VATV =N—AF 7.0 20,444 567 21,018
225 | /mLae 2.2 2.2
226 |1, 1=V AF)LERTVV
227 [ "Fa—p 3,305 3,305
998 |3 3 —UAFAET = —4, 4 =T

N=VAVTT F—h
229 |FAT 7 R—FAF L 94,813 94,813
230 N—(1, 3=V AF LT FL) =N =7 ==

NN—IRTG =T 2= VT
231 [A/Nb—R)P
232 [N, N— P AF LA LTI 33,839 33,839
233 [Zxpm—p 26,093 26,093
234 |R% 0.073 0.073
235 | RFREDKIEIELR 0.00008 0.00008
236 |7 AAFT =1 21,330 21,330
237 KRR O Z DA 1.4 78 61 141
238 |KFTNT ==L
239 | FHEARLAY 1.2 12
240 | AFL > 4,900 610 8,453 29,401 1,482 4,777 9,481 0.91 59,105
241 2 — ZVIRANF I F AU — 1 — AF LA

TR LI
242 [ELU RO OLAD 0.018 294 0.012 294
243 [FAAF M 1,401 1,401
244 [FV Ay 69,339 69,339
245 | FARFH 0.0004 0.003 0.003
246 |FAT=/)—)L
247 B 7akA
248 [ FATV I 43,379 1.9 1.6 43,383
249 | /LB A 13,393 13,393
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RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
2G0T = = Al AbbEasE | B vYr | Of - H " ET BB | M| RWE | PR ik

250 [ A/ Y F AL 1,841 1,841
251 |Zx=baFA 26,460 158 1.8 26,620
252 | Tz T A 60 60
253 | /07> )RA 1,600 1,600
254 (AT TRURA
255 |FH7uEY T 2=l m—T )L
256 |7 1R 2.7 2.7
257 |FH)—) 570, 0.010 570
258 |~FHFAFLLTETII 0.079] 22,029 0.003 22,029
259 [VANT 4T 1.4 1.4
260 | ZunXo=, 51,743 51,743
261 | 7HIAK 11,364 11,364
262 |FhF/nuxzFL 3,979 11 3,990
263 [CFC—112
964 |2 3, B, 6=ThITRR— /T

v
265 |7 hIER AT VHEK T 2V
266 |77 /LRY 1,108 1,108
267 | FATINLT 404 404
268 | FUTL 0.44] 13,260 13,260
269 | (Y7 4h—)V
270 | FLTHLVER
271 |[TLIHNVERY AF )V
272 | $KEETER (B AR, ) 0.85 48 108 38 195
273 | /<)L —RF LT La—L 0.28 3,384 3,384
274 (= XV—RT A FA—)
275 |[RF I VHilEF R A 114 4,422]  0.078 50,178 34,426 89,140
276 |ThITFL o4
277 [N=F LTI 224 798 1,022
278 [N =FLoThI3v 7.2 27 34
279 |1, 1, 1—RN)ruanxs
280 |1, 1, 2—h)yooxg
281 |F/mnxFLo 4,558 4.3 4,563
282 | M)/ ook 1.8 2.3 4.1
283 |2, 4, 6—h)Zou—1, 3, 5—hT7I
284 |CFC—113
285 |yuntE sy 22,893 22,893
286 |hzmb L 88 88
287 (2,4, 6—hK)raur=z/—L
288 |[CFC—11 34,288 34,288
289 1, 2, 3—RJZnaras s
290 |RyZmm~_E

1, 3, 5—hMA(2, 3—x=RFT7atL)
291 | —1, 3, 5—K7Yr—2, 4, 6(1H, 3H,

5H) —hAY
292 |N7FLTI
293 (N7 ATV 48,930 48,930
294 |2, 4, 6—NTHETx/)—)L
295 13, 5, 5—RNIAF L —1—~FH /—/L
296 |1, 2, 4— RIAF A~ B 44,093 2,002 284 10,066 72,797 1,099 28 130,369
297 |1, 3, 5—RNIAF LB 18,429 48 114 57,584 13,450 47,266 1,002 4,845 5,854 20 148,612
298 MLy VAV T r—h 6.1 6.1
299 [MLAvY
300 by 310,977 563 2.0] 25,403 337,426 124,346] 3,558] 1,001,074] 11,750 26,893| 62,408| 3,813] 758 1,139 1,910,112
301 |[pL=o YTy
302 [F7HL 3,169] 20,868 0.45 1,962 506 36 26,542
303 (1, 5—FFHLLPAN=UAIL T X —h
304 \¢h 0.11 0.11
305 |$nbEw 15 1,923 87 152 100 2,276
306 | T ZUMBAF AT LV 0.37 0.37
307 | HfbER{bY v a=r L
308 |=v4 v 0.002 0.011 0.013
309 |=vr M LE 2.2 18] 2,592 175 2,787
310 | =hUm = FEfE
311 A Nb—=baT7=Y—/L
312 [ANbh—=fr7 =)
313 [=hasUky
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REA R/l TR i (ke 25, 7 A% >~ BlIma—TEQ/ %)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
4 Wi MELHO i | | g e RIS AR BRAN R D g e WREB . BE M o A/VR sork | Gat | n | KD g
Pt s # A ek | SE | LUv | ofF - i " | WWE | VR | EWE | R iy

314 [T —=trroa g
315 |[F/Nh—=FahlL=x>
316 =k~ 1.3 1.3
317 |=hmAZy 0.23 0.23
318 | “hifb iR 1.4 0.21 1.6
319 | /)<L — =)L T )La—)L
320 | /=T /)—)L 0.15 0.15
321 NSO LMEE 0.21 163 230 393

5 —[N, N—tERA(2—T&FLAF =

FNTI] -2 —(2—TaE—4, 6V
322 Sl =T — 4 — AR TRNT 43 43

=
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RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
~ . = = : Al ABRERSE | R vVr | O - H " EOTTI] BB | M| RWE | PR Zn
ZEYLLT PR g%

323 [S AR 36 36
394 1, 3—E&[(2, 3—=ARF 7B L) AF

DA
325 [ A% G 6,773 6,773
326 |[Zur=rFUv
327 |1, 2—ER(2— /7= L) ERTI
328 [V 214 214
329 [RUA—/3A—h 72,103 72,103

ERA(1—AF ) —1—Txz=)LmF)L) =~
330 ihop 0.61 0.61
331 [HAHPHA 4,671 4,671
332 it R O O LG Y 0.000007 360.000003 11 48
333 [ERTVv 2.3 353 356
334 |4—bRaX 2 BFMAT L
335 IN— (4—ERBX> 7x=/L) 7ERTIF
336 [ERmx /v 3.1 6.4 9.5
337 [4—bE=/L—1—Zu~Ft
338 [2—E=LEYT
339 [N—bE=/L—2—EnrJR
340 [E7==/L
341 BTGV
342 LYY 1.8 1.1 2.9
343 [ hTm—L
344 | Tz A XL T
345 |7 x=)LER TV
346 |2— T x=)VTx/)—)L
347 IN—7z=)L~<LA3IK
348 | T7==L YT
349 [7x/)—) 79 0.23 181 260
350 |~LARY 959 61 1,021
351 |1, 3—74Vx 4,085 2,174 36,854 342 6,782 7,420] 5,085] 2,018 64,759
352 | ZHNEEST YL
353 | ZHNBRY TF )L
354 [ TANEEY — V= —T FIL 9.2 3.8 1,669 1,682
355 | ZHNVERE A (2— =F L~F L) 137 58 196
356 | ZHNVEE/ Vv — T FIL =P 0.48 0.48
357 |7 u7=Vy 60 60
358 |77 7= /)UK 161 161
359 //Iz?/tfj'%/vfz, 3—TARFT T ar

JLT—T )L
360 |~/31 13,750 13,750
361 |2 miky ST FL 1,558 1,558
362 [T 7= Fyns
363 [ AXHIOTV 520 520
364 |7 ErF L A—| 70 70
365 [BHA
366 | ¥ — ¥ — 7 F N =bRu ~YLAFI R
367 ANL—EH AT FNTx)—)L
368 [4—H—Lx¥)—TF)NTx)—)L
369 |7/ LE Yk 30 30
370 [EUF A~ 60 60
371 [F7 72 BTN 60 60
379 |[N— =34V —TF L) —2— I FT

S NVANT =T IR
373 2—H—1x) =T F)—5—AF )T =

J—)v
374 | S Atk FE R OZ DK 779 46,245 4,552 51,675
375 |2—TTF—)L
376 |74 ru—)L 3,321 3,321
377 [75
378 | TuExs 1,470 1,470
379 [2— 7o —1—4—/L
380 |, —1211
381 |7 OEY/OBAN 1,127 460 1,587
382 |, —1301
383 [T mvi L 6,786 6,786
384 |1—7mES IS 6,030 0.45 6,030
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REREZ PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)
1 2 3 1 5 6 7 8 9 10 11 12 3 11 5| 16 | 17 18 9 20 31 2
4 WH BRSO | pa | o PHEVIE AL PR DU | AT L e REREB o BGE AE o P/VR 20rR Eah Thm | R g
ESTES = s #l #idnes 5LA PO - H " IR | OB MEME | U | RWE | B i

385 [2— T mET R
386 | BLALAT /L 18,236 18,236
387 BT =2 T HAX
388 |TmURANLT 7
389 ;\\\\#ﬂ'?“//lxl\U;“)"/IzT‘/-‘E:?A=7UU 5.6 871 514 1.390
390 | ~XPAFLLUT L
391 | ~FYAT LY = AV T F—h 0.27 0.27
302 Il —~F 95.727 1,804 58,073 201,903 6.339 155 367,001
393 | ~HFTh—/b
394 |~V LR OZDILEY 53 53
395 [~LAFY THREED KEETEE 2.1 2.1
396 PFOS
397 [~ =hR)ra)R
398 H{b~o UL
399 U AT LTER 0.001 2,448 14,288 216] 3410 1,222 1,271 0.0001 22,855
100~y 6.503 133 103,148 1775 221.871  3.740| 27.985| 23.595| 5,085 2.130 12 395,969
401 | L 2, A= RNUECNIAR L, 2— 1%

K
102 A7=T Tk 5 5
103 |~ T2 0.005 0.009 0.014
104 | R BTERT = )L
105 1BHRILAD 117] 28,163 9.8 348 93.946 122,583
106 PCB

RY (¥ =FLr) =T ¥z —T)L
107 | (FARLEOBFHN 1205155 TOB 2,386 133,220 19 562,568 50,383 748,576

DR OZDRAWZIRS., )
108 i”_(ifi/l?vﬂfﬁ7?”7l”” 17 7194 14 254 41 71,508

R (AL 2FLy) =R Forxz—TL
409 B 16 16,514 72,805 11,572 130,908
110 ijflfﬁ*/l?vﬂf/"’”l"”l 1,187 65,090 21 1,508 284 68,180
411 VAT ATER 2,095 851 9300 2,671 148,489 733 122,002 21,330 15,254] 1,008 1,341 1,004 326,272
12~ T ROZDI A 0.95 89 2 8.5 124
413 KT XV
A14 K<L AR 0.044] 1601 1,601
415 | AXTV LR 64 % 66
416 | AXZVIVEE2 — TF )L ~F L
417 [AZVYNVEE2, 3—TARFL T aE )L
118 AZIU L2 — (DAF AT =TI 0.048 0.086 0.13
419 | ABTYVEE )~V —T F )L
120 | AH IV VEEATF L 783 513 12 1.309
421 [A—AFVF o AFEH —2—F v
122 T=VAS Y 12,612 12,612
1423 AFATI 0.001 0.001
124 AF L= AIFA LT H—F
425 AT a7
126 IAAKTT
427 AL 1,090, 129 1,219
128 T2 TANT 6.0 58 64
129 NEALTEUATIL 20 20
130 A FXF LT 18 18
131 |7/ % L ANREY 7,470 7,470
132 7R
133 — A
134 AF L 14 14
135 | EUS /S oI AT 180 180
436 |[TNT 7 —AFNAF L
437 |3—AFNF AT —)v
138 AFAFTHLY 2 28327 0.40 0.002 28.353
439 |3—AF NV

1—AF )N —1—Tz=/L=F )L =bRa~
a10 )T 0.002 5.6 5.6
2= (U= AFATEEL) —4, 6-Y=}n

Tx/)—)V
142 ATa= 1425 1425
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MOFGFR L HEHIIRA - R G fb - BUAN O Pt HERHRS S CPAR29 4 B « L) [1. P RERRA E T $ 3 H OO LYV L F~22. —ARBEger) i ]

AT TR B (ke ., 771 > Filimg TEQ/ )
1 2 3 4 5 6 7 8 9 10 11 12 13 15 16 17 18 19 20 21 22
4 Wik, DRSO | g o VRV WAL PRGN WU RET o | e AEEES Bl A o P/VR 2rR e Thm | R g
Thaot) RE(® A dcstas A | oYy | O —HE | | T o | R | A | e
443 | AV 4,502 4,502
444 |N) 77X AR 1,339 1,339
445 | ZVYXRY DATF )V 3,692 3,692
446 |4, 4’ —AFL VT =0
147 AFLUER4, 1—vranFily)=v
AT F—h

448 ;?t./}\tx(4, 1—Tx=Ly) =TV 27 1.0 28
449 T AT 4T 7 A 68,773 2.6 68,775
450 BT FHNLT 31 31
451 |2—ARKY —5—AFNT =V
452 [2—= AVHT DS F T — )b 0.33 0.33
453 | BVT T ROZEDILEY 4.6 657 662
454 [2— (ENARV ) OFA) NS F T =)
455 |E/NRY 11 47 58
456 WAALT VI=T L 330 330
457 |V Ua)VRA 443 443
458 |WABEN A (2— 2 F L~Fi L)
459 | WABENIA (2— ZamEF L) 3.2 3.2
460 | WARERIR L 1.9 1.9
461 |DABEN 7 ==L 3.0 3.0
462 [V ABRN— /v = T F )L

=) il 974,379] 2,909,387 2,590/ 37,998 1,111,407/1,204,376| 954,862 146,956 416,536| 39,726 2,584,080 30,136 261,125| 201,161/45,762| 8,279| 3,815 370,152 1,401 141,099 374,842 6,415]11,825,084
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